3aBopa

O.L
3aaumox
Ha
.| 31.08.2024
=
Ne HaitmenyBanus z ’
n/n v =
C =
=
1 | CkapugikaTop -Kombse 5 2600
2 | CepBeTka CIiupTOBa = 14800
3 gganoqxaonHop. E 350
JTyBaHY
4 | macka Mex 3-X mapoBa 5 8200
5 [InaTens EIOP E 600
JICPEBSTHUIM
6 | Mmpwur 2,0 5 5900
7 | Ulnpun 5,0 S | 10000
8 | Wnpwur 1,0 iHCY. = 1400
9 | Mmpwur 10 ma 2 8000
10 ArneTrncaninuioBa K- = 5
Ta 0,5 Nel0 >
11 PykaBuuku natekcHi L =3 1600
H/CT =
PykaBuuku narekcHi =9
12 wer M g 7900
13 gyKaBHqKH}UcrnaTeKc §* 9500
14 | Impur 20,0 5 2250
Byruins akrtusos 0,25 =
15 No10 =8 30
Jlonepamin T 0,002 =
16 Nol0 =8 20
17 JIegKonnaCTHp . E 600
1/ (hikcar KaHrJI1
18 PyKaBHngIUCT = 800
HITpUI0Bl p M a
19 PyKaBHngIUCT = 1500
HITPUJIOBL p S a
20 | Ananria 1. 0,5 Nel0 3 55
21 STMIQCTL n/ceui 120 mn E 100
22 | Katerep B/B G 26 E 45
Ilepexuc BonHmO 3% =
23 100.0 = 50
0
24 Ilepexuc BonHmO 3% E 100

100,0




Xnoprekcuaus 0,05 %

25 | 100 s = 148
26 | Bunt n/ct 5*10 5 670
27 PyKaBI/I‘-I‘KI/I CT = 240
ornsoBl p. L =
28 PYKaBI/I‘-I.KI/I CT =3 300
orsoBl p. M =
0
29 11'15)631161/10 BoIHIO 3% H 150
30 | Bunr cr 5*10 5 1100
31 PYKaBI/I‘-I'KI/I CT =3 150
ors 0Bl p. M =
32 | Amiak p-u 10% 40 M1 = 10
33 i;{zaganpnn 10,011 3 75
34 | Kanrons B/B G 20 E 300
35 | Kanrons B/B G22 = 200
36 | Kamrons B/B G24 = 250
37 | Cenanmexcun T Nel0 4 22
38 | Kanrons HOCOBa E 30
39 | PykaBuukw ct. xip 7,0 g o 500
40 | PykaBuukwu ct. xip 8,0 g o 500
41 | PykaBuuku cT. Xip 8,5 g o 500
42 ilgg%nponon T SMr = 10
43 | Cucrema 1P = 5500
44 | ITA3 57*18 = 10
45 | Cucrema IK = 200
16 f;géozmnm T 0,005 = 30
[Tapaneramon x 500 mr =
47 | yoto a ]
48 €MHiCTB 30,0 n/6ion E 50
piguH (MOKPOTH)
49 | PykaBuukucrxipp 7,5 | € o 500
50 | bopna k-Ta 10r = 100
51 | [liBmacka izt = 400
52 Hirporninepus T = 1
0,05mr Ne4(
53 | bunt H/ct 7*14 E 475
54 | CepBetka ct 14*16 Ne5 S 780
55 | Jloparamuu T 0,01 Nel0 | E 10
56 | bunr ct. 7*14 5 1016
57 | Pinrepa p-u 200,0 =, 315
58 | 3onn nutyHKOBHI p 18 E 50
59 | baxinu oxHop. Bucoxi 5 860
60 | Amiak p-u 10% 40 M 2 10
61 %J(I)o;mnu{ 1 0,005 = 10
62 | Lleasomin Ir = 750




JHekcameraszon 4 mr 1,0

E

63 No 5 S 101
Hidbenunia T 10Mr -

%4 | Nes0 I
Meronpouon T 0,05r -

%5 | N30 I
Jlinokainy r/x 2% 2,0 =

66 No10 S 45

67 | Lledorakcum It = 60
Hatpiro xmopun 0,9% =

68 100,0 =9 3688

69 | Baran/ct 100T. 4 438

70 Ceuonpuitmau 271/90 E 50
cM

7 [Temromka E 2100
MOTJIMHAIOYA

0

79 Hoxmasepusn 2% 2,0 = 990
Ne5
INapoxmopTuazuyg -

73 | 1.0,025 Ne20 3 3

74 Ceuonpuitmau 271/90 E 97
cM

75 | Hedrpuakcon 1t Nel = 43
Cnuprt etunosuit 96% =

76 100,0 S 210

77 Jletikonactup E 419
KaTyIIKa

78 | I'mokosa 5% 200,0 2 23
@ypocemin 1% 2,0 =

79 No10 =8 126
Humenpon 1% 1,0 =

80 No10 =8 143
I{ianoxo601aMiH -

81 10,05% 1,0 Ne10 > 48

82 | Omis BazeniHoBa S0Mu1 = 75

83 | Ioympoden T 0,2 Ne50 B 20
[Ipo3zepun 0,05% 1,0 =

84 Nol0 =8 34

85 | Pinrepa p-u 400,0 = 50
Meroxnonpamiz 0,5% =

86 12,0 Nel0 ” 42
Marsito cynbdar 25% -

87| 5,0 Nel0 > o7

88 | bunt rincosuit 15*270 E 480
Hatpiro xnopua 0,9% =

89 400.0 =9 564

90 | Anairin 50% 2,0 Ne10 5 86
Humnpodmokcard p-H =

91 | 0,20 100,0 < | 1%0
Humnpodmokcard p-H =

92 1 0,29% 100,0 < %0

93 | Uedrpuakcon 1r Nel = 50




OnpaceTpoH 2mr/mi

=

4 12,0 Ms ” 12

95 | Karerep ®ounes p 18 E 100

96 | Eydinin 2% 5,0 Nel0 5 43
Atpominy c-1 0,1% 1,0 -

97 No10 = 16
Hixnodenak 2,5% 3,0 -

98 No10 = 35
Hexcameras3oH 4mr 1,0 =

%9 | Nelo ” 0
Awminazun 2,5% 2,0 =

100 No10 = 3

101 | l'onka cnunansHa G22 5 63

102 | TpybOka enmgoTpax p 7,5 5 10

103

104 | bunTt rincosuti 20*270 4 240
ITanaBepuH r/x 2% 2,0 =

105 Nol0 = 30
®nyokcetun T 0,02 r =

106 No20 =4 19
Kanronpun T 0,025 =

107 ne2o ~|
Pinrepa makrar p-H =

108 200.0 =9 140
CHipoHOJIaKTOH T =

1091 9,025 N30 ” 20
@iykonaszou k 100mr =

110 Nl = 3

111 | Ananpunia T 0,01 Ne50 | 5 1

112 | Bepanmamin 0,25% NelO | 5 1

113 | IlloBk xip. Ct Ne5 5 240
Hiroxcun 0,025% 1,0 =

114 No10 =8 20

115 | Kerryr et Ne 5 = 504

116 | Mapius men Sm = 987
Mertpeca p-H 0,5% =

1171 100,0 Nel S| A0
AMIKalMHy C-T =

118 1 5 50mr/wn 2,0 Nel i %0

119 | JIT3 80*20 5 10

120 Aputmin 150 mMr/3 mn = 5
Ne5

121 | Ecenan 40 mr Nel 3 239
AmnanipoH p-H 10mr/mn -

122 100,0 £ 190

123 | JIAT3 80*20 = 6

124 | JIIT3 80%*23 = 10
®nykonazon 0,2% =

125 100.0 S 5

196 AmnanipoH p-H 10mr/mn H 80

100,0




127 | Mannir p-u 15% 200,0 | & 48
Anpenaniny 1/x 1,0 -

128 No10 g 4

129 Egasl{(;cpeaTnH 8000 T = 10

130 | Iankrpearnn T Ne50 2 3

131 J?@H;(];;OHOJIaKTOH 10,05 = 10

132 | Magsir 200,0 2 48

133 | Me3aton 1% 1,0 Nel10 5 5

134 Kanonpuitmay E 30
OJTHOKOMTI
Bbynipon p-H 4 mMr/mn =

135 100 wut = 60
Bbynipon p-H 4 mMr/mn =

136 100 vt =9 380
Hartpiro Tiocyn-tT 30% =

1371 5.0 Nel0 > 40
lamonpun 0,5% 1,0 =

138 Nol0 S 4

139 Macka kucHesa 3 E 5
TpyOKOIO 1I0p

140 | Mepomienem 1t Nel = 220

141 | KomGinizon saxuc,om | 5 600
ﬁon ME€Ya€BCHKUH P-H =

142 1 1006 120,0 ” 83

143 | dnopaszun 1 v = 1000
I'moxo3a 40% 20,0 =

144 Nol0 = 2

145 | He6yramon 2,0 Nel0 4 2

146 J?r;\g%npamn karc 0,04 = 42
Jlexcketonpoden =

47 Somr/2mn 2,0 Nel0 > 00
TpanekcamoBa k-Ta =

148 100Mr/mit 5,0 Ne5 > 50
Hanoxcon 0,4Mr/mn =

1491 1.0 Ne10 ~ L

150 | Xymonap b 100 P 5,0 & 3
Hexcamerason 4mr 1,0 =

151 NS = 1

152 | Azodenon S 1

153 | deppodomn T Ne30 2 2

154 | Xymonap P 100P 5,0 & 1

155 Macxa KHCHEBA 3 E 19
MIIIKOM

156 | Crepunan-180 S 1

157 | Crepurect 132/1000 S 9

0
158 ];gll:laHTeH KkpeM 5% = 30
159 Hosoctesun Cninan = 10

Smr/mi 4,0 Ne5




160 | Crepunan -132 BHYTp B 1

161 | Crepunan -132 30BH 5 4

162 | Crepinan -180 30BH = 5

163 | Kneiionka men 2m B 8

164 §§1TSHOB 30mr 1,0 3 30
JliarH cMy’X J/BU3 TI. =

165 T JIp =8 5
MoxkcaHauus =

166 | 400mr/250mn 250,001 | & | 200

167 | Jodamin 4% 5,0 Ne10 4 2

168 | Iiarysku p L 3 133
Axtpanin p-a 100 =

169 | Mo 10,0 = 1
[30-mik Imr/ma 10 mn =

170 No10 g 2

171 | Enokcanapus 3 M =3 27
BanenpokoM XxpoHO =

1721500 1 Ne30 > 25
[aramict p-u 100 =

173 | \ir/n 3,0 Nelo ” 10

174 | Miarysku p XL 5 48

175 | Hiarysku p. XL 2 46
E6panTwi p-a 50 mr =

176110,0 nes > L
HeroponenTuH Kkarc =

1771 300mr Ne100 > !
[Tynemikopt 0,25 =

178 | i/ 2,0 Ne20 > 2

179 | Ledenim 1r Nel0 Sy 2

180 | Lieporpun 1 r Nel0 Sy 10




